Pl
5(a) A smooth sphere moves on a horizontal table. It strikes an identical sphere at rest on the table. The

latter is at a distance y from a vertical cushion. The impact is along the line of centres and normal to
the cushion. The next collision between the spheres takes place at a distance d from the cushion.
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(i) Provethat d= . J; where e is the coefficient of restitution for impacts between spheres and
e ;

between a sphere and the cushion.

(i) Interpret the result when e = 1.
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(i1) e=1 = d=y

A stops after the first collision and the second collision
between the spheres occurs at a distance y from the cushion. 5
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